LEAD PROJECT

Huye District

Rwanda

REPORT OF HYGIENIC MATERIALS ASSISTANCE OFFERED TO WASH CLUBS IN HUYE DISTRICT



Introduction:

Brief:

LEAD PROJECT refers to "Leadership, Entrepreneurship and Accountability for Development', its intention is to help young generation to be future good leaders, entrepreneurs by being accountable for development. Also within this project there is 'Hygiene and Sanitation Program' as a way of helping youth to contributes to the communities with the aim of maintaining a good health of biodiversity.

On 24th October 2022, through this program, LEAD made a field work, intended to offer materials assistance to Wash Clubs from two schools in Huye district. In previous

workshops of trainings, the Wash Club members wished to have materials assistance in order to improve their contributions on Hygiene and Sanitation as Wash Clubs at Schools and their communities. 'Lead' have received this request and respond it positively. At Wednesday, 24th October 2022, LEAD organized an event of offering those materials in order to empower those clubs. Some hygienic materials offered are Cotex, Soaps, watering cans, cosmetics oil, Buckets, Basin for washing and Purifiers of water. 120 members of clubs from two schools (E.P Mbazi, G.S Mwulire) after receiving those Hygienic materials, were very happy and sais that those materials are going to help them in increasing Hygienic and sanitation practices at School and their communities. Also they expect to enlarge their clubs even out of schools due to empowerment they got from LEAD trainings and facilitations.

Today, each club is composed of 60 members. 120 students already trained by LEAD on Hygiene and sanitation. They are ready to continue mobilization at school and outside; All clubs members have told LEAD representatives that materials they have received are going to help them in their club activities such as practices.

Full Video Link: https://www.youtube.com/watch?v=L9-9hmElg8c

B. WASH CLUBS FROM MBAZI PRIMARY SCHOOL & G.S MWULIRE HAVE GIVEN HYGIENIC MATERIALS AND FACILITATIONS:

TOTAL COST OF THE EVENT /BUDGET SPENT:

MATERIALS COST				
NO	NAME/DETAILS	UNIT PRICE /RWF	TOTAL PRICE /RWF	
1.	4 COTEX BAGS	18,500	74,000	
2.	2 SOAPS BOXES	8,600	17,200	
3.	10 watering cans (Arosoires)	5,000	50,000	
4.	2 BOXES OF COSMETICS OIL	5,250	10,500	

5.	10 Buckets	15,00	15,000
6.	20 BASINESS FOR WASHING	14,00	28,000
7.	10 PURIFIERS OF WATER (Sur'Eau)	800	8,000
8	20 WATER CANS (BIDONS)	1,250	25,000
9	MATERIALS TRANSPORT	15,000	15,000
	MATERIALS COST	242,700	
	OTHER EXPENSES		
NO	NAME/DETAILS	UNIT PRICE /RWF	TOTAL PRICE /RWF
09	Photographer/Journalist facilitation + transport	15,000 +2,500	17,500
10.	Event coordinators (Christophe &Devotha) Transport	3,000	6,000
13.	Facilitations of 4 Schools representatives (Mbazi Primary School& G.S Mwulira) in the Event	10,000	40,000
	COST	63,500	
	TOTAL COST	306,200	

PHOTOS OF EVENTS



Photo:Students from G.S Mwulire were very happy to receive Hygienic materials from 'LEAD'



Photo:Wash Club from G.S Mwulire is proud to make Mobilization on Hygiene and Sanitation at School and outside after being empowered by "LEAD"



Photo:Devotha is giving remarks to Wash Club members



Photo:WASH CLUBS are aware of learning new thing on Hygiene and Sanitation



Photo: Clubs members were given different Hygienic materials to maintain Hygiene



Photo;Club members and their Teacher have said that those materials are going to help them to maintain Hygiene at school



Photo: Wash Clubs of trained by 'LEAD' are proud to become ambassadors of Hygiene



Photo: Today's Girls are future smart woman that's why 'Lead' is empowering them



Photo: They have said that these materials, they were given are going to make them being champions at School



Photo: Club members have the target of enlarging club and make it prosper



Photo: Club facilitators at school was appreciated for her Work



Photo: Empowered youth, become happy generation



Photo:Club Facilitators at dialy life of school were appreciated



Photo: Wash Clubs are giving a thank to LEAD Coordinators who thought on them



Photo:Head master of Mbazi Primary School have said that 'LEAD PROJECT" is very important because is empowering youth, the Future leaders



Photo:Mbazi Primary School is expecting to be the Champion in Hygiene throuth exploitation of materials offered by 'LEAD'



Photo: Wash clubs still want to cooperate with "LEAD"







PHOTO: It was really amazing for Club members to have LEAD as a stakehorder







FOR MORE: WATCH FULL VIDEO FROM TWO SCHOOLS (MBAZI PRIMARY SCHOOL AND G.S MWULIRE) Video Link: https://www.youtube.com/watch?v=L9-9hmElg8c